
FIG  1

FIG  2Page 1

START HERE

PLEASE READ AND UNDERSTAND ALL INSTRUCTIONS BEFORE INSTALLATION.  
Auto makers offer varied models to each vehicle and occasionally manufacture more 
than one body style of the same model. 

BEFORE YOU BEGIN       

START HERE: Turn off engine, chalk tires with stop block, open the 
hood and disconnect the battery.  

STEP 1      

STEP 2     

2) Screw the Steel Socket 
Caps into the Bracket 
Coupler as seen in Figure 
#2.

 DO NOT BOTTOM 
OUT as you will need it 
adjustable.

* APPLICATION MODELS VARY. WE RECOMMEND TO VERIFY FITMENT BEFORE BEGINING INSTALLATION PROCESS.
* IMAGES FEATURED IN THE INSTRUCTION DOCUMENTS MAY NOT ALWAYS EXACTLY MATCH YOUR MODEL OR PART.

LED LIGHT BRACKET INSTALLATION

MOVE ONTO 
STEP 2

SEE FIGURE 2

1) Start by
assembling the 
Coupler and Set 
Screw. 

- (1) Universal Accessory Mount

- (1) Bracket Coupler

- No LED Lights IncludedZ350003 

Z350003 

(3) - 10 - 32 x 7/16 Button Head Allen
Stainless Steel Cap Screw

(1) - 1/4 - 20 x 1/2 Stainless Steel Hex Bolt
(1) - 1/4 - 28 x 1 1/2 Socket Head Cap Screw
(1) - 1/2 Flat Washer 

- Various Socket Set
- Various Wrenches
- Ratchet Tool
- Ratchet Extensions

Tools Required

Parts included

HARDWARE INCLUDED

LED LIGHTS INCLUDED

* LED Lights include a seperate hardware kit.

REAR MODULAR BAR - MULTI LED  / ACCESSORRY MOUNT

Z350003 

UNIVERSAL ACCESSORY MOUNT / MULTI LED 
SIDE MOUNT / LED LIGHT POD SIDE MOUNTS

Installation Guide

Parts are PATENT PENDING. All Rights Reserved - Copyright ©2016 - ZROADZ LED, INC.

https://www.carid.com/zroadz/


Page 2

STEP 4     

4) Note Figure #4 and how the Coupler Set Screw is 
located and clocked straight down from the Mounting Tab
to 3:00 o’clock.

STEP 3    

3) Assemble Bracket Coupler to the Universal Accessory
Mount with the (3) Provided 1032 x .500 Button Head Allen
Cap Stainless Steel Screws.

STEP 5 

5)Loosen out the Set Screw so you can easily slide onto
Modular Rack Cross Member Tube.

STEP 6 

6) Slip off the Upright Mount so that you can slide the
assembled Universal Accessory Mount over the Modular
Rack Cross Member Tube.

Put back into place the Upright Mount.

SEE FIGURES  4 & 5SEE FIGURE  3

SEE FIGURE 5

SEE FIGURE 6 - 8

UNIVERSAL ACCESSORY MOUNT 

Fit Mount Over Tube

FIG  4FIG  3

FIG  5

FIG  6

FIG  7

FIG  8

UNIVERSAL ACCESSORY MOUNT Installation - Continued

Parts are PATENT PENDING. All Rights Reserved - Copyright ©2016 - ZROADZ LED, INC.



Page 3

STEP 8     

8) Insert and install Accessory Mounting component
such as GoPro Tri Pod Mount, Quick Release Mount,
Mic Stand Mount, ect.

NOTE  

These next Steps #7 - #10 are specifically for 
accessory mounting. 

If you are intending to mount an LED Light Pod to the 
Universal Accessory Mount, than move onto Page #4 
Step #11.

STEP 7    

7) Insert 1/4 - 20” Bolt Hardware into position from the
bottom of the Univeral Accessory Mounting Tab.

STEP 9   

9) Tighten down till secure. Do not overtighten.

STEP 10 

10) Finally tighten Universal Accessory Mount and lock it
into place by tightening the Coupler Set Screw so that it
pinches tight to the Modular Rack Cross Member Tube.

SEE FIGURES  9 - 11

SEE FIGURES 11 - 13

UNIVERSAL ACCESSORY MOUNT 

FIG 10FIG  9

FIG 11 FIG 12

FIG  13

FIG 14

UNIVERSAL ACCESSORY MOUNT Installation - COMplete

Parts are PATENT PENDING. All Rights Reserved - Copyright ©2016 - ZROADZ LED, INC.

ACCESSORY MOUNTED



Page 4

STEP 12     

12) From below the Univeral Accessory Mounting Tab,
insert and thread a nut till LED Light Pod is secure.

STEP 11    

11) Take assembled LED Light Pod with Mounting
cradle and hardware, and insert into the Univeral
Accessory Mounting Tab adjustable mounting slot.

STEP 13   

13) At this point, you will want to position the LED Light
Pod to your desired position. It can be positioned to face
forward, backwards, sideways, ect. Tighten down till
secure.

STEP 14 

14) Finally tighten Universal Accessory Mount and lock it
into place by tightening the Coupler Set Screw so that it
pinches tight to the Modular Rack Cross Member Tube.

SEE FIGURES  15 - 17SEE FIGURE  15

SEE FIGURE 17 - 19

UNIVERSAL ACCESSORY MOUNT 

LED LIGHT POD MOUNTED

FIG 16FIG 15

FIG 17

FIG 18

FIG 19

FIG 20

UNIVERSAL ACCESSORY MOUNT Installation - COMplete

Parts are PATENT PENDING. All Rights Reserved - Copyright ©2016 - ZROADZ LED, INC.

Check out a selection of off-road lights offered in our online store.

https://www.carid.com/off-road-lights.html



